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Schnitt A-A 1:100

Grundlagen;

Grunssticksnsche: 1013m®

GRZ! 0.4

GFZ: 0.8

Max. 2 Volgeschosse: UG end £G (OKRDUG 0.3m U. Gel. an Gesautarmitte)

Wokgeschassigheit:
UG: 2.065M + 2.62m + 1,375m + 0,865m + 0.73m + 0.175m = 7.83m
7.83m / 6 = 1.305m

13050 < LM 4.0 UG = keln Vollgeschoss

Nittere Hoee Geldnge:
A02.52m + 401.72m + 401,36m + 405.065m = 1617465
1613,465m / 4 = 403.366m

A02366m + 0.30m « 403.666m « OKRD-UG ok B-#an
OKRD-UG = 404.21m  [Afferenz = 0.544m
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GRZ: 151 46m7 £ 1013m? = 0.15
0.15 < 04

GFZ: 151,467 / 1013m7 = 0.15
0.15 < 05

Relipimzberechnung:
1 Woheeinhest * 25t0l, « 2 Stal,
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